10/2011

@
VILIIS
Portavant 120

Montageanleitung / Installation instructions / Instructions d “installation

Wandmontage / Track fixed to wall / Montage mural

VITRIS-Beschlag fir Ganzglasschiebetiiren - einfligelig / zweifligelig
VITRIS system for all-glass sliding doors - one-sash / two-sash

Ferrure VITRIS pour portes coulissantes tout-verre - un vantail / deux vantaux



2 10/11

VIitris

Portavant 120

Sicherheit / Safety / Securité

)

In dieser Montageanleitung wird die
Wandmontage fiir 1-fligelige und 2-
fligelige Schiebetliren mit dem Glas-
schiebetlrbeschlag Portavant be-
schrieben.

Bestimmungsgemafie Verwendung

Der Glasschiebetiirbeschlag Porta-
vant ist fur die Befestigung von Glas-
schiebetlren aus Einscheibensicher-
heitsglas (ESG) und Verbundsicher-
heitsglas (VSG) geeignet.

Die Oberflache der Glasscheibe darf
im Klemmbereich keine reibungsmin-
dernde Oberflachenmodifikation ha-
ben. Ornamentglaser dirfen nicht
verwendet werden. Die Montage von
satiniertem Glas aus ESG/VSG ist zu-
lassig.

Der Glasschiebetiirbeschlag darf nur
durch Fachpersonal mit Erfahrung bei
der Montage von Glasschiebetiiren
montiert werden.

Fir die fachgerechte und tragfahige
Montage zur Bausubstanz und die
Auswahl des Befestigungsmaterials
ist das Fachpersonal verantwortlich.

Verletzungsgefahr!

Die Glasscheiben sind schwer.

Fehler bei der Montage konnen

zu schweren Verletzungen fuh-

ren.

- Halten Sie sich an die in die-
ser Montageanleitung vor-
geschriebene Reihenfolge.

- Beachten Sie insbesondere
alle Hinweise, die mit dem
Warndreieck gekennzeich-
net sind.

- Empfehlung: Montieren Sie
das auf Seite 14 beschriebe-
ne Sicherheitsset, wenn das
Gewicht eines Tiirfligels
80 kg ubersteigt.

Beachten Sie auch die Hinweise des
Glasherstellers.

Ty

These assembly instructions describe
the wall attachment of one-sash and
two-sash sliding doors using the Por-
tavant glass sliding door fittings.

Intended use

The Portavant glass sliding door fit-
tings are suitable for the attachment
of glass sliding doors made of tough-
ened glass and laminated safety
glass.

The surface of the glass sash must not
have any modifications reducing sur-
face friction. Patterned glass must not
be used. The fixing (clamping) of sati-
nated glass (basis: tempered glass or
laminated safety glass) is admitted.
The glass sliding door fittings must
only be assembled by specialists with
experience in the installation of glass
sliding doors.

For the competent and stable fixation
to the building structure and the se-
lection of the fixing material, special-
ist personnel is required.

Risk of injury!

The sashes are heavy. Errors in

assembly can lead to serious in-

jury.

- Keep to the sequence pre-
scribed in these assembly
instructions.

- Observe, in particular, all
notes flagged with the warn-
ing triangle.

- Recommendation: Use the
safety set described on
page 14 if the weight of a
sash exceeds 80 kg.

Any notes from the glass manufactur-
er should also be observed.

®

Cette notice de montage décrit le
montage en plafond de portes coulis-
santes a 1 et 2 vantaux, avec la ferrure
Portavant.

Utilisation conforme

La ferrure Portavant est concue pour
la fixation de portes coulissantes en
verre de sécurité simple etenverre de
sécurité feuilleté.

La surface du vantail de verre ne peut
subir aucune modification que reduit
la friction superficielle. Des verres
imprimés ne peuvent pas étre utilisés.
Le montage de verre satinée (base:
verre trempé ou verre de sécurité
feuilleté) est admissible.

La ferrure pour porte coulissante en
verre doit étre posée uniquement par
des personnes ayant l'expérience du
montage de portes de ce type.

Pour assurer une fixation compétente
et stable a la structure du batiment et
pour assurer une bonne sélection du
matériel de fixation, il est nécessaire
de faire appel a un personnel qualifié.

Risque de blessure!

Les portes en verre sont lour-

des. Les erreurs commises au

montage peuvent provoquer
des blessures graves.

- Respectez l'ordre des opé-
rations tel qu'il est décrit
dans cette notice de monta-
ge.

- Faites en particulier atten-
tion aux instructions signa-
lées par un triangle de si-
gnalisation.

- Recommandation : montez
le kit de sécurité décrit en
page 14 lorsque le poids
d'un vantail dépasse 80 kg.

Respectez aussi les instructions du
fabricant du verre.

Montageanleitung 1.0.1 / Assembly instructions 1.0.1/ Notice de montage 1.0.1

VITRIS Portavant 120



Portavant 120

VIitris

Wichtige Informationen / Important information / Instructions importantes

Lieferumfang / Scope of delivery / Quantité livrée

* Option

M5x 8 M4 x 12 M4 x 10 ST4,2x18 M6 x 20 M6 x 10

1005.EV166.221

Wichtige Hinweise / Important notes / Instructions importantes

Glasstarken [Nennmaf) / Glass thicknesses [Nominal dimension) / Epaisseurs du verre (cote nominale)

Esc! vsg! A

Das maximale Seitenverhaltnis der Glasscheiben betragt 2,5:1.

Das maximale Fligelgewicht betragt 80 kg mit Dampfer / 120 kg ohne Dampfer.

The maximum height-width ratio of the sashes is 2.5:1.

The maximum sash weight is 80 kg with cushioning system / 120 kg without cushioning system.
Le rapport hauteur/largeur des vitres ne doit pas dépasser 2,5/1.

Le poids maximum d'un vantail est de 80 kg avec amortisseur / 120 kg sans amortisseur.

8 mm 8,76 mm

10 mm | 10,76 mm

12mm| 12,76 mm

1) ESG: Toughened glass / Verre de sécurité simple
VSG: Laminated safety glass / Verre de sécurité feuilleté

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1




Portavant 120
vitris

Planungsgrundlagen / Planning criteria / Bases de calcul

Abmessungen / Dimensions / Dimensions

C=Ax4+4 C=Ax2

- ft+———————————————————————————— P
37
-
4
— |
Lw Lw
35_|] 35| 35 |l | 35
| | - >
A=LW/2+33 || A ‘  A=LWs70
Scheibenhshe / Sash height / Hauteur de la vitre Werkzeuge / Tools / Outils
58,5 . —

20

A W A 7x1,2

v A

70

22

H1=R- 43
R
O
ES

6mm /8 mm

4Nm /12 Nm

“ <:>3mm <:>4mm

1102.EV166.287 0811.EV166.003

10

4 10/11 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 VITRIS Portavant 120



Portavant 120

VIitris

Laufschiene / Top track / Rail

Optionale Montage / Optional assembly / Montage en option

\/

"/ Faden entfernen
Remove thread
Fil a retirer

0901.EV166.026

Montage / Assembly / Montage

+/-1,0 mm

max. 2mm/1000mm

1102.EV166.027 0906.EV166.071

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 10/11] 5



Portavant 120
vitris

Bodenfiihrung / Floor-guide / Guide au sol

Bohrungen Bodenfiithrung / Drill holes for floor-guide / Percages pour le guide au sol

]

\‘\‘\‘\ ‘\‘\‘\‘\‘\
\‘\‘\‘\ \\‘\‘\‘\
\‘\‘\‘\ \‘\‘\‘\
\‘\‘\‘\ \‘\‘\‘\
\‘\‘\‘\ \‘\‘\‘\
\‘\‘\‘\ \‘\‘\‘\
\‘\‘\‘\ \‘\‘\‘\
T T T T
S

0906.EV166.006
Montage Bodenfiihrung / Assembly of floor-guide / Montage du guide au sol

ESG 8/VSG 8,76

ESG 10/VSG 10,76

12 mm

ESG
Toughened glass
Verre de sécurité simple

VSG
Laminated safety glass
Verre de sécurité feuilleté

0811.EV166.007

6 10/11 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 VITRIS Portavant 120



Portavant 120

VIitris

Aktivator und Riicklaufsperre / Activator and return stop / Activateur et verrou antiretour

Variante: Variation: Variante:

Dampfung einseitig links Cushioning on left side only Amortissement d'un seul coté, a gauche

Montagerichtung Riicklaufsperre
Direction of assembly of return stop
Sens de montage verrou antiretour

Montagerichtung Aktivator
Direction of assembly of activator
Sens de montage de l'activateur

@ M4 x 10 mm
M4 x 10 mm
Variante: Variation: Variante:
Dampfung einseitig rechts Cushioning on right side only Amortissement d'un seul c6té, a droite

Montagerichtung Aktivator
Direction of assembly of activator
Sens de montage de l'activateur

-
/
O

M4 x 10 mm

Montagerichtung Ricklaufsperre
Direction of assembly of return stop
Sens de montage verrou antiretour
= | e |

) s

D

(?g M4 x 10 mm

0910.EV166.082

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 1011 )] 7



Portavant 120

VItris

Aktivator und Riicklaufsperre / Activator and return stop / Activateur et verrou antiretour

Variante: Variation: Variante:

Dampfung einseitig, 2-fligelig Cushioning on one side, 2 sashes Amortissement d "un seul c6té, a deux vantaux
Montagerichtung Ricklaufsperre und Aktivator Montagerichtung Aktivator und Ricklaufsperre
Direction of assembly of return stop and activator Direction of assembly of activator and return stop
Sens de montage verrou antiretour et de l'activateur Sens de montage de l'activateur et verrou antiretour

O

M4 x 10 mm

M4 x 10 mm

M4 x 10 mm

0910.EV166.095

8 10/11 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 VITRIS Portavant 120



Portavant 120

VIitris

Aktivator und Riicklaufsperre / Activator and return stop / Activateur et verrou antiretour

Variante:

Variation:
Amortissement des deux cotés, un vantail

Variante:
Cushioning on both sides, 1 sash

Dampfung beidseitig, 1-flligelig

Montagerichtung Aktivator
Direction of assembly of activator
Sens de montage de l'activateur

M4 x 10 mm

0910.EV166.083

Variante:

Variation:

Variante:
Cushioning on both sides, 2 sashes Amortissement des deux c6tés, a deux vantaux

Dampfung beidseitig, 2-flligelig

Montagerichtung Aktivator
Direction of assembly of activator
Sens de montage de l'activateur

S \ﬁg
/
O

M4 x 10 mm

> 1O
M4 x 10 mm

0911.EV166.097

10/11] 9

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1



Portavant 120

VItris

Aktivator und Riicklaufsperre / Activator and return stop / Activateur et verrou antiretour

Variante: Variation: Variante:

Ohne Dampfung, 1-fliigelig

No cushioning, 1 sash Sans amortissement, un vantail

Montagerichtung Riicklaufsperre
Direction of assembly of return stop
Sens de montage verrou antiretour

M4 x 10 mm

0910.EV166.084

Variation: Variante:

No cushioning, 2 sashes

Variante:

Ohne Dampfung, 2-fliigelig Sans amortissement a deux vantaux
Montagerichtung Ricklaufsperre

Direction of assembly of return stop
Sens de montage verrou antiretour

O

M4 x 10 mm

©

M4 x 10 mm

[m==] [ ] =

0911.EV166.096

VITRIS Portavant 120

10 | 10/11 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1



Portavant 120

VIitris

Montage / Assembly / Montage

A Aktivator nicht verbiegen!

Do not bend the activator!

Ne pas déformer l'activateur!

0911.EV166.080

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1




Portavant 120

VItris

Anschlagsystem / Stop system / Systeme de butée

Variante: Variation: Variante:

Dampfung einseitig links Cushioning on left side only Amortissement d'un seul c6té, a gauche

Montagerichtung der Anschlage:
Tiren bis 80 kg

Assembly direction of stops:
doors up to 80 kg

Sens de montage des butées:
portes jusqu'a 80 kg

Variante: Variation: Variante:
Dampfung einseitig rechts Cushioning on right side only Amortissement d'un seul coté, a droite

Montagerichtung der Anschlage:
Tiren bis 80 kg

Assembly direction of stops:
doors up to 80 kg

Sens de montage des butées:
portes jusqu'a 80 kg

= [m—]
4 Nm :
0910.EV166.099 0910.EV166.085

12 1 10/11 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 VITRIS Portavant 120



Portavant 120

VIitris

Anschlagsystem / Stop system / Systeme de butée

Variante: Variation: Variante:

Dampfung beidseitig Cushioning on both sides Amortissement des deux cotés

Montagerichtung der Anschlage:
Tlren bis 80 kg

Assembly direction of stops:
doors up to 80 kg

Sens de montage des butées:
portes jusqu'a 80 kg

0910.EV166.100
Variante: Variation: Variante:
Ohne Dampfung No cushioning Sans amortissement

Montagerichtung der Anschlage:
Tiiren bis 120 kg

Assembly direction of stops:
doors up to 120 kg

Sens de montage des butées:
portes jusqu'a 120 kg

<= g

0910.EV166.101 0910.EV166.086

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 10/11 ] 13



VItris

Portavant 120

Montage Sicherheitsset / Assembly of safety set / Montage du kit de sécurité

max. 1,5
-———

~ v

0811.EV166.010

Montage des Sicherheitssets bei Scheibengewicht
> 80 kg empfohlen

ESG

VSG

Entlastungsschnitt

ja

nein

Assembly of safety set with sash weight > 80 kg

recommended
Toughened Laminated
glass safety glass
Relieving cut yes no

Montage du kit de sécurité pour vitres d'un poids
> 80 kg recommendé

Verre de sécu-
rité simple

Verre de sécu-
rité feuilleté

Coupe de déles-
tage

oui

non

14 1 10/11

Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1

VITRIS Portavant 120




Portavant 120

VIitris

Turbeschlage / Door fittings / Ferrures de porte

Auswahl der Glasbeilagen / Choice of shims / Sélection des cales

Verletzungsgefahr durch Herausrutschen der Risque de blessure par glissement de la vitre en cas

Scheibe bei unsachgemaBer Montage! de montage non conforme!

Die Klemmflachen der Laufwagen und Glasbeilagen Les surfaces de serrage des chariots et cales doi-

missen sauber, trocken und fettfrei sein. vent étre propres, séches et exemptes de graisse.

- Scheibe und Glasbeilagen mit Glasreiniger reini- - Nettoyer la vitre et les cales avec un nettoyant a
gen und trocknen lassen. vitres et laisser sécher.

- Beriihren Sie die Glasbeilagen und Laufwagen- - Apresle nettoyage, ne prenez pas les cales et les
nach dem Reinigen nicht an den Klemmflachen. chariots par les surfaces de serrage.

Risk of injury if sash falls out because of improper
assembly!

The clamp surfaces of the roller assemblies and

shims must be clean, dry and free from grease.

- Clean sash and shims with glass cleaner and al-
low to dry.

- After cleaning, do not touch shims and roller as-
semblies on the clamping surfaces.

Auswahl der Glasbeilagen je Montageseite
Choice of shims per assembly side
Sélection des cales pour chaque coté

ZEI_L L)
ESG VSG
Toughened glass Laminated safety glass )
Verre de sécurité simple |Verre de sécurité feuilleté J_
-
NI
'/

8 mm 1+2mm 1+2mm
8,76 mm 1+2mm 0,5+2mm
10 mm 2mm 2mm
10,76 mm 2 mm 0,5+ 1 mm
12 mm T mm T mm
12,76 mm T mm 0,5 mm

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 10/11 | 15



Portavant 120

VItris

Reinigung / Cleaning / Nettoyage

0910.EV166.013

16 | 10/11 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 VITRIS Portavant 120



Portavant 120

VIitris

Turbeschlage / Door fittings / Ferrures de porte

Montage der Laufwagen / Assembly of roller assemblies / Montage des chariots

Anziehen mit 12 Nm
Tighten with 12 Nm
Visser avec 12 Nm

Nachziehen mit 12 Nm
Retighten with 12 Nm

@ Resserrer avec 12 Nm

4x
M6 x 20 mm

0910.EV166.014

,/((((((

\\\/\/

4x18 mm @ o\/ %\@

4x18 mm

1005.EV166.238

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 10/11 | 17



Portavant 120

VItris

Montage der Schiebetiir / Assembly of sliding door / Montage de la porte coulissante

Variante: Variation: Variante:

Dampfung einseitig links Cushioning on left side only Amortissement d'un seul c6té, a gauche

Einbau Dampfer und Ricklaufsperre:
Tiiren bis 80 kg
Pos. 6 nur leicht anziehen! -

Installation of cushioning system and return stop:
doors up to 80 kg

Fix the screw no. 6 only lightly! 2%

M4 x 12 mm

Pose amortisseur et verrou antiretour:
portes jusqu'a 80 kg
Ne serrer position 6 que légérement !

1005.EV166.239

Variante: Variation: Variante:

Dampfung einseitig rechts Cushioning on right side only Amortissement d'un seul coté, a droite
Einbau Dampfer und Ricklaufsperre: = = )

N . X
Tiiren bis 80 kg MZ x 12 mm

Installation of cushioning system and return stop:
doors up to 80 kg
Fix the screw no. 6 only lightly!

Pos. 6 nur leicht anziehen! ) \

Pose amortisseur et verrou antiretour:
portes jusqu'a 80 kg
Ne serrer position 6 que légérement !

1005.EV166.240

18 | 10/11 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 VITRIS Portavant 120



Portavant 120
VItris

Montage der Schiebetiir / Assembly of sliding door / Montage de la porte coulissante

Variante: Variation:

Variante:
Dampfung beidseitig Cushioning on both sides Amortissement des deux cotés
2X
= M4 x12 mm
Einbau Dampfer: —
Tiren bis 80 kg
<=
Installation of cushioning system:
doors up to 80 kg
Pose amortisseur:
portes jusqu‘a 80 kg
Oz
M4 x 12 mm

1005.EV166.241

Variante: Variation: Variante:

Ohne Dampfung No cushioning Sans amortissement

Vorbereitung Ricklaufsperren:
Tiiren bis 120 kg
Pos. 6 nur leicht anziehen!

Preparation return stops:
doors up to 120 kg
Fix the screw no. 6 only lightly!

Préparation verrous antiretour:
portes jusqu'a 120 kg
Ne serrer position 6 que légérement !

0906.EV166.038

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 10/11 | 19



Portavant 120

VItris
Montage / Assembly / Montage

Schiebetiir einhdngen / Suspending sliding door / Accrocher la porte coulissante

0807.EV166.028

[

VITRIS Portavant 120

Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1

20 | 10/11



Portavant 120

VIitris

Einstellungen / Adjustments / Réglages

Hohenverstellung / Height adjustment / Réglage en hauteur

A Gefahr!
Glasschiebetiir kann ohne Aushangesicherung aus
der Laufschiene springen.
- Die Aushangesicherung gemaf} Beschreibung
unten einstellen.

A Danger!
The glass sliding door may jump out of the top track
if there is no safety catch.
- Adjust the safety catch as described below.

A Danger!
Sans protection antidécrochage, la porte coulis-
sante en verre peut dérailler.
- Régler la protection antidécrochage en bas
conformément a la description.

0811.EV166.018

Einstellen Aushangesicherung / Adjustment of the safety catch / Réglage de la protection antidécrochage

—+ [ 4
! T rj o] Omm ! H;\ r?0_5 mm
—{o o e olofl= =0 © e ool

0811.EV166.019

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 10/11 | 21



Portavant 120

VItris

Endmontage / Final assembly / Montage final

Montage der Blenden und Abdeckkappen / Assembly of facings and end-plates / Montage des bandeaux et caches

\
Option/option/option

(2]

Faden entfernen
Remove thread
Fil a retirer

®_‘© @M5x8mm

1109.EV166.029

Reinigung der Laufflache / Cleaning of top track / Nettoyage du rail

1005.EV166.235

22 | 10/11 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1 VITRIS Portavant 120



Portavant 120

VIitris

VITRIS Portavant 120 Montageanleitung 1.0.1 / Assembly instructions 1.0.1 / Notice de montage 1.0.1



vitris

Vitris is a trademark of Gebr. Willach GmbH

Gebr. Willach GmbH
Stein 2
D-53809 Ruppichteroth

Tel.: +49 (0)2295 92 08 -421/ -423/ -427
Fax: +49 (0)2295 92 08 429
vitris@willach.com

www.willach.com

Kataloge und Zeichnungen bleiben unser Eigentum. Nachahmung, Vervielfaltigung
und Weitergabe sind urheberrechtlich untersagt und werden zivilrechtlich sowie
strafrechtlich verfolgt. Angaben in Katalogen, Zeichnungen sowie in Montageanlei-
tungen sind lediglich Produktbeschreibungen und stellen weder Beschaffenheits-
zusicherungen noch Garantieerklarungen dar.

Technische Anderungen vorbehalten.

Catalogues and drawings remain our property. Copying, duplication and transfer are
prohibited under copyright and will be prosecuted under civil and criminal law. In-
formation in catalogues and drawings as well as in assembly instructions are merely
product descriptions and represent neither quality assurances nor statements of
guarantee.

Subject to technical modification.

Les catalogues et plans restent notre propriété. Dans le cadre de la réglementation
sur le droit d'auteur, il est interdit de les copier, de les reproduire et de les trans-
mettre a des tiers sous peine de poursuites pénales. Les indications figurant dans
les catalogues, plans et notices de montage sont uniquement descriptives et ne
constituent pas des promesses de caractéristiques ni des garanties.
Sous réserve de modifications techniques.

© Gebr. Willach GmbH




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


